HREB A H#= 20244 >
259 % b RAE1t
(BAAST - 5)
St CHF 5N -EH S RBRICFEON-ER
Lo Lk w2 i W3 4 A Lk w2 i W3 i A
| PHHER ¢ PUHER ¢ PUEH 0 mEHE " PUHER ¢ PUHER ¢ PUSH 0 mEHE .
TEULGEETA 2 4 4 10 1 2 3 6
TE G S HERG 1 0 0 1 0 0 0 0
TEUGEEE 0 0 0 0 0 0 1 1
#H |RATTS 211 216 223 650 1 6 1 8
Z | EEREFEE 207 155 173 535 0 1 1 2
# TR 0 0 0 0 0 0 0 0
E,:E] = it
% |Z$95128% 214 157 169 540 1 0 1 2
AEFRIE 2 7 5 14 0 0 0 0
T Dt FT R FIBE % 2,823 2,213 2,367 7,403 0 2 1 3
&t 3,460 2,752 2,941 9,153 3 11 8 22
£ 0 0 0 0 0 0 0 0
AERE-E& 925 815 792 2,532 0 0 0 0
I i Dil N7 123 103 110 336 0 0 0 0
s |[RERFHLAB R 5 12 9 26 0 1 1 2
B |REEHEEE R 14 3 7 24 0 0 0 0
1’% K-18F 191 164 173 528 2 2 0 4
Z Dt URFRES & 0 0 0 0 0 0 1 1
Hi 1,258 1,097 1,091 3,446 2 3 2 7
[REINES 0 0 0 0 0 0 0 0
LEE A 43 35 38 116 0 0 0 0
B 80 88 08 266 1 1 0 2
RHANBREE 228 182 190 600 2 3 1 6
R |gsLE-EHEE 374 316 393 1,083 0 1 0 1
F'g R 0 197 191 229 617 1 0 2 3
eSS SES VS 1,016 914 980 2,910 9 2 3 14
BERRE® 239 206 224 669 3 2 2 7
£ R H—K-ATMER 0 0 0 0 0 0 0 0
T tR2E R 1,824 1,827 1,983 5,634 0 0 3 3
&t 4,001 3,759 4135 11,895 16 9 11 36
HHREE-FEF 190 159 193 542 1 0 0 1
£ |RCERBREXILFRH 161 176 172 509 0 0 1 1
# RCFERIREFZIRE 10 14 13 37 1 0 1 2
ij AR FER T EXZILF 2,317 2,189 2,026 6,532 7 2 5 14
2 | ARFRHAETRILRE 586 535 518 1,639 15 14 17 46
E ZDMREE - BTEERK 0 0 0 0 0 1 2 3
Hi 3,264 3,073 2,922 9,259 24 17 26 67
BEDRE-vF— 20 36 16 72 0 1 0 1
PRI FHERR 26 85 824 935 0 0 0 0
0%) 1B A 1S ERENIREE % 66 60 66 192 1 i 0 2
(7%= —EXERK 1,190 1,144 1,098 3,432 0 2 1 3
ZD1h 759 861 756 2,376 0 2 1 3
Hi 2,061 2,186 2,760 7,007 1 6 2 9
HEt 14,044: 12,8671 13,849 40,760 46 46 49 141




